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Chapter-1
Fundamentals of C programming

After completing this chapter we * What is Program & Programming
will learn about- Language

e Generation of programming
language

 Compiler, interpreter
 Steps of program planning
e Algorithm & Flowchart

* Some examples of Flowchart &
Algorithm
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#Hinclude<stdio.h>
main()

int a, b, c;

scanf(“%d %d”, &a,&b);
c = a+b;

printf("%d",c);
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3| RO Inerpreter]
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/ nawa /

i=1, sum=0

|
sum PIFT
L T A0
sum = sum + i H
i=i+1




515 (YTF Y00 AT VYT WIFS fATGIG FLYI BTATA CAITHe
fRNTIa SETNEAY 8 CRTeTE | AT

Y40+ — — — — - +300 HTATA CATTH AT SUTACNTAAT 8 CFIGI6|

47y &F |
41°1-2: | GATPE W 1 A1 498 sum AP W4 0 B[l 61 1R |
g1°1-0: T i < 100 =T, OTR(A 87 4L TNE, STAIAT G2 LT TR
H19-8: sum = sum + i {3

4I7-¢: | GALPA WA 2 I PI A7 “[FIT oS 4T TR

H1°1-: sum HeIEd W 27|

114 (*1H |



A T TR R o o 8 B B MR W R e e R T

¥

i=1,sum=0

Ll

sum = sum + i

!

i=i+2




Yol 5 (YT oo AT NTYT O (GIY ALY BTATF (FqITHe

ST aAT 8 | ST
R+8+Ys — — — — - +500 YIATA CATSTHe fANTHF SUTTNfany 8
CIGTG |
TSRS
Iy |

41712 | BEITEE WA 2 BRI RS sum Beld I 0 FRT 5] i
4171-0: T i <100 =, OT2A 8¢ 40 1%, ST G 4 T2
41°1.8; sum = sum + | ff|

41716 | IR WA 2 3 IF I32 SAI 0me 4T T2

H1P1Y: sum Bl W 2|

79 (%]



Chapter-2
Data types, constants & variables

After completing this chapter we  What is data types

will learn about- * Data type declare how

e Constant, variable & string



(GBI BIR A (Data Type):

I ot fSieq ¥am=g (oh Mg 15 =41 =21 (AT FETETS (G5! 29946 T4 =9 493 (13T (56
ST TLA WG 6 AR ST UIF | (H-(o0aTs-4 (STHTEae (ST9F Gl (G6TF W= S{ETar (o5 Br2s
30 Mre =91 [Afea BrEreE ool CaraErse foF fon I8 Wesn 74 FF| (GoE ¥a- & (U

[

offg9 g FiTm0E [eiers ¥ e 5Elt CifEs 0ok B2 =gl I91-

1. FITFeF (Character)

2. 26 G (Integer)

3. (Fe: ATF6 (Floating Point)

4. 519+ (Double)



CE BT BIES CaT=<Ta (=raT:

o CHIFTHTE CHTEENE W05 OG5 6T BIEef (FHT=ET Fa3ra G CG 6T BIErg SI-SunG =14 Ts =09 | (I9=- int, float,
char, dnublei@ﬁl

- TBIEHE N TRCE ColacEas1-4a9 - ff90s =091 (I9=- int sum

« HEUSCH (AT ﬁrul_{"a?i'_.ﬁ'l CEEI=1- int sunm;

- AFE BIECYE AT CSiaraas (ST G561 G129 RI-8W05d 919 55 a0+ =9 (Al
(SIRTHTTST =0 SWETH S0 F0d FE909E (A= #1940 =091 (T9=- int n1, n2, sum =S|

CBGT TR TIFS I SAE TR
Character char char a; char a.b.c:
Integer int int number: int numberl . number2
Float float float x; float a_b,c;
Double double double x; double x,y,z;




oo 39T CSBT BI=E~1 J3I2G7 a99s CSigcaaScaTs .38

CSGT GBIzt == csfacaac= =
char 1 byte -128 to 127 . 2T 50271
signed char 1 byte -128 to 127 =], 27 to 27!
unsigned char 1 byte O to 255 =], O o (2%1)
int 2/4 byte -32768 to 32767 =1, -2'5 to 25!
signed int 2 byte -32768 to 32767 =T, -2'S to 25!
unsigned int 2 byte O to 65535 =1, Oto (2'°YH
short int 2 byte 32768 to 32767
cenum 2 byte -32768 to 32767
long int 4 byte -2147483648 to 2147483647 1, -23! to 231!
signed long 4 byte -2147483648 to 2147483647
unsigned long 4 byte O to 4294967295 =1, O to (2321)
float 4 byte 3. 4xE-38 to 3.4xE+38
double 8 byte 1. 7xE-308 to 1. 7xE+308
long double 10 byte 3. 4xE-4932 to 1.1 xE+4932

bool

1 bit

True or False




(GBI BIE ¥ (Ire7d f:

(SIATEae (IS TE W05 (G5 P12 WHTE T 919 GHT (56! BIATd SI-841G [40e =41 (99- int, float,
char, double iﬁlﬂﬁl

SENE o R (SErEee- a3 Y e =091 (T int sum

AT (AR M0® 24| (39- int sum:

A% BIETE ST (SETTae (99T (G0 5139 F-20Ea 99 455 i F (A
(SATEITTIElF SR F0a 0 T (RS w40 =41 (F99- int n1, n2, sum ey |



Character char char a; char a.b,c:

Integer int intnumber,  int number! pumber?

Float float ' float X; float a,b.c;
Double double double x;  double x,y,z,




Constants (F8TIB): (ATATY [FT=A TN B (NNMNe SR JT4 [ VW SR T FAA 7397 =7 7| (@94 11 44
WA T T 0.385 T FYCAT 1397 T 71| (1T 022 70 (3 A T {230t 21 OIE F0ro 91 &3 30

5 (o1aqTs T (RN SO0 (97 41 I | T2

o 31 const PTG TTIFE
o 2| #define FACPRITER TR

const FG TTA T $I (TENT FINNG TCAT:

» const ConstType ConstName = ConstValue;
+ (443 const float PI=3.1416;

#define f{oT7A I4TH I FIF (T FIANG ICAT:

s+ #define ConstName ConstValue
+ #define P13.1416

582 (Strings): 2 2o FOBT FARIIR STUE IR (FF G el null FMFSFN0) | 42 null TMFSH [ a7 O
AT TR 2 ST O (RTGHAR () SR WA U |



T trings) 5 ST PO TFT SIS G 1 (o7 o 2 nul PTR10)| & nl BTG B 6 0
WA 31 e T R TP (1 I 7 47

T o v e

o Char sting[20] = {5, 1,
v Char string[20] = "demo’,

v har string |="demo”,



Chapter-3
Operatorsts & expressions

After completing this chapter we * What is operator
will learn about- » Different types of operator



WATLAHS (Operator):

(13T T ST & s 70 e 59 O S0 A 5% Teee 0, 4TS
WOATHo7 T 20 (39, 4, - *, /, <, > 20| 48 W63 % 71 YTeT ¥ oy ST ST 9
(i F1G 531 784 2001 7| 5 107 Sa0TE WoTE0E % S0 31 T




SOIEATI BT SIAE6S

5 conams fafes snfifes =g (cas=: car5y, fRTm19T, @9, ©151 Tenin) S=9F $319 G+ (I599 g q1
WHAGE TTIT© =T, SITHATS WINFLCH 6T 971 INfTos WHNIed I =9 | (i3 ot 3= 195
SR G WANMACITIIRS Ol S IIT Sre|d T4 2=

/ (fefo=) St FEE G | 81/9 9
* (wiffare=) &<l FAE G | 7%6 42
% (fESTE) Sriees fadfw | 209%6 2
+ (21T 2) G <+ 1 8+5+2.75 15.75
- (B WEFA) | et 2=t 9-5 4

cofer : wifadtear Wty



A= wrontEeE

57 conams RO AATS A W0HT =94 ((TI: (F6, (F6 M AN, TS, IS I U LOI17) (@FRCAE FAY
( WHMAGT TITS X, OF (AT WATAGT 61 =H | TT© A2 WATAGCT JNE 72 WANITST W0e

ST LA eI STol/ e Reee wnteew o [t o 9291 ST (At et e e s
SIS 8 TTITF Ol FAT I

< Less than (¢=15)
<= Less than or equal (25 31 791+)
> Greater than (%)
>m= Greater than or equal (% 31 73/)
—— Equal to (5757%)
|= Not equal to (SF1)

ofee : s weatce



ATGIEITA SATEBA

51 conams ARG W ((TIN-ATGEE WE, WG S, WG 76) SFF FIE G (I
WHATILT TVIT© =T, O AGII WAI6I I TH | AGST ©F @ ATGHI SIS WANIoT <0
FEAE THTI6T 493 ATMF BOF WHIS int B2 T AGRI &F ( || ) € AGIF SIS (8&) - g3

T {16 B WAHS A, (T8 G0 76 (1) 97 G I35 WANAS A0 | JGT AGRIE 746 ()
AF6 2OAIF SMACT|

|| Op1=0p2)il g wearsz T A
(G S | Op3; OR AT &+ |

&& Opl=0p2& | 6 SoaTes T AAfG@@
(7f&= WE) | &Op3: AND SATETE &7 |

| * | = weiETes wfemmE NoT
e as) | OPITOPE | stz e |




e O o e e = 10T

s B e | Y e = | [ [ I =3 1 ) = 13 e o S = [ o D I | R DR D | RS 6 o B S = [ e [ = R
=g e =3 w0 S S hg (7;) TS =4 | S SHEe g II9Sgd I IE =0E1-

True |
Expl =( Test Condition)? Exp?2 : Exp3;
False |

ST GHEIH5 2/9TH Test Condition A =(a; g2 W 5e7 91 W7 =0+ Expl = Exp2 [HEifEs T
TS =09, E1E 4% W= T30 =1 %= =0 Expl = Exp3 FiEiEs =1 s=entas ==




ﬁﬂi.ﬂ:tﬂﬁﬁ 3 |ﬁ%ﬂ: ESHITEeS (Increment and Decrement Operator)

EAfEpTaB SIHTE6H (Increment Operator): CTATH T8 TS (SRATHICES 0T+ TG (G

BNl r6 INSITS =9 | (SIargaeTd M 9195 (Increment) =A8T8 G018 155 S0l 6 SWHTaed
mﬁﬁﬁﬁW|£?ﬁﬁfuﬁ'ﬂﬁ1 CEF =g PLlad (A CRILAT 3N =2 HMILd I LT X=X + 1, X =K+ 2, ¥ =X +
3 BN | BRlaptuteg 9= 1 g 9i5® =arg Gl I a9 o= Sapra-6 SISTaeg (90 += IrI=19
=9 =91 .4 FH0TE WA EEE R 6 UlE SIS 0" hE =09 9097 ATHArE 56 Srasa 97 =91 919

HIEHTTT T8+ (General Syntex) =C=1: variable ++ =T ++ variable;

ergiBr Postfin Sepry-5 B1g aeHibr= Prefix SHl=pra-5 I=1 == | HIETETS while, for Sy = <15-a5
CTFTH & 9 d SEela 5 99S =0 WS | S=+1T Postfix @ Prefix-«<I9 FTCS ST S=TAT =02 o751
HCA| (A, | = 4 95 j = i++; & (LA | L9 0= =04 5, (5 j a9 = =9 4; =raE 90 i = 4 498 j = == T
= S=F | @ | BerHd I+ =(9 5 wrefie, Prefix SreCs 9T 2GR variable-9 ST 1 CAT51 04, SI9=F

T T e s = | I [ | [T ) = & e ST STHI = =T | tﬁf‘*‘*l?:’l%:?ﬁ Postfix ST 9T HTewd wariable-<=F =T
WITHIEA 04, SIF9F SIS g 9= 1 S =T




WHflE, j++ I T T |7 T 1 T00E, (8 S Twib oFas M| -

#Finclude<stdia . o sxfas® Wb I

int main()
{
int j:
int i=1;
J=i4+
printf{"i=%d\n j=%d",i,j):
rcturn O;

- — - ——

QYUTH, j = i++; OTET SACT | @F H= 1 ATS 2

ZrT 8 Iz iv+ WO 0 (1) FAS LR

SI2 j 97 W Z0T 11 TR oy W @ sy

SIRAT FETHFE CIATS AT |
Output :

i=2

i=l1

++i GF W ZCET i 9F W 1 AMSCT 99 qIETE =19 1o I W Z0E G NH 2 (Fae G | @sw=—

o - - - -

- -

int main()
{
int j;
inti=1;
J = ++i;
printf("i=%d\n j=%d".1,)):
return

#include<s CoT-d o : THIGFCRS WATABAT TIASTT

-

-

U, j = ++i N T 1 9T F5 | A 2
ZT G99 AMSE Y9 qEA T TN ZLT T A=E0%
e T | 1% j 99 W9 20w 2 1 o cenmafe
o 79 =20E WIRAT SIS GIATS HIET
Output :
i=2
j=2




fofaTD—6 =I*NMta59 (Decrement Operator): Sl T6 SHTIGIES [FS13I0S =G =09 Glasr =5
WAL T | =g, (SErgaaTa UL =1 (Decrement) FATH Gl 2 U5 S (GlaplH6 SHTAGE TTI9S =0
;LT ﬁmq 1 CE=F &9 FFLd [ (FT HH == ILd | (A x =x-1: x =%-2; ¥ = ®x-3 3@%|
GlEerHog N 1 =09 TS =19E G0 9 49 o= Bt w-6 =oMacy Ir9=19 F=a1 =4, =919 SIETE0T
STH (Syntax) =

variable — =291 —variable

reAiGr= postfix St a6 a9 EEEGrT prefix fSi=r=-6 I=T == FHT=ETS for, while F1f*1:-99 ¢t .4
Al SRl a6 T99S =0d S|

Variable ++ 8 ++ variable a9 THT HATATT

variable ++ S9al i++ ++ variable 9T ++i
d. ETE Postfix 9591 2 | . T Prefix 9517 & |
3. Postfix @9TT AT & variable 9% AF P2 | 3. Prefix U0 Operand 99 Acd 1 @M% w54,
FCA, S HoAATEa Wi 1 AfFe T SR FETHELE AN QS  cSfacmas 9=
AR 4 |
O, TRIZAT: i =4 QAR j =i ++; 9 CFCT | GF T+ | O, TATZAT: i = 4 QA j = ++i; 9 CFCH i Q9L j
=3 5 Bw® j 97 79 7T 4 TSEA TH A S







Chapter-4
Input and output operations

After completing this chapter we * What is format specifier

will learn about- * Input output operations

e What is Backslash character



a6 CiST=sTaTE

scanf() IT printf() FIs*T ST (HICAT (S 6T F1 CSIFTHITETT W ol I AF=Tw7 GiA] (N0 g =a0ned
TS FICTRT III=TF I =, (TSTECF FACAE CNIT=wTaa I =01 (T89S %d FIACA6 s raaie
integer BIECST (GBI 2906 I RO GG T & III=© =91 [Area (GiEw FfSw v3t=3 =336

AT TaICa s I9S1F ora Y =91 ==

= TR T Tt
Fec single character 796 19 &+ TISS =F | scanf( %" . &name); printf(" %< ,name):
9%d imcgcrﬁft’ﬁ CG’T?_T%'E? = W@E;fﬁ =491E 97 | scanf( “%%d” .&name): printf(*%d", name);
F1d long integer B13C7E CEGT 2420 AT WISHG TATT S | scanf( “G%1d"” . &name); printf("%1d” ,name):
Gt floating point B3 CE5T S0 F1 WIEG=T =l =7 | scanf( “$6f° _&name); printfi{* %", name);
Yolf double BIZCHE CE6T 2920 9] HGO 20 AT 4T | scanf( "G&1f" &name); printf(“%H", name):
9%u unsigned integer BI2CHE (B61 29906 4] WIG6Y6 FAH G0 | scant{ “%u” ,&namc); printf("%u” ,namc);
9%:1ua long unsigned integer CE6T 2590 =l m BRIl scant( "%lu" &name); printf(“&lu” ,name);
%o octal GIZCHH CE6T 2990 41 WISOA0 ST e | scanf( “G%o” &name); printf("%o” ,name);
G x hexadecimal integer CEGT (a.b,.f) 2906/ NISG7G ¥ S5 | scanf( "G6x" &name); printf("%x" name):
9eX hexadecimal integer (A.B,.F) (851 B9+5/Sr80+0 +4% &=F | | scanf( “%X" &name); prindf("%X",name);
Ss string BIZCAE (661 2920 41 WISG#lb F4/4 &) 99 =4 | scant( “%s" . &name); prind(“%s" name);
e I GoFE | float B39 = %f FATPGEFEE (b=~ 216/NE570 | scanf( "Gc/FE" .&namc); printf{” %<’ ,name):
Tog AT %G float BT29 AN % f WAAT Ghe ARG =TH S0 [ATSOIG =47 | scanf( "%g/RG" .&name): printfi“&c” name):
% [™\n] 52 512 S 340 41 WISG406 a9 & | scanf( “% [Ma]" .&name); prinef(“%c”,name):
% hd short integer 127 J1+ 2970 I NSO FATT =47 | scanf( "S%hd” . &name): printf("%c" name);




o7 corants Srary 2996 43¢ SIG6 4B SRR

(P (PN (GO1 2GT FAX G AT (01 247 T 2T (TN (TH1 2975 (RSTR Ty ITTO TS 2470
TN 0 | SRR AT 1RT0] 92 SOH-LH A Gl IO TSP S50 P 06T | 7 (2ranfe o
2T (ST RS G676 (FATAR Gy [[Iw AR I TR FISHTTIRS

Console Input/Output functions

l |

Formatted Input/Output function Unformatted Input/Output function
Type Input  Output Type | Input | Output
getch()
char scanf( ) printf( ) char getche( ) PUtCh( )
. | getchar( ) putchax()
int scanf() | printf() | |
int - .
float scanf() | printf() Haat
string scanf() | printf() string gets| ) puts( )




FATIG CfSTwrat £7 (AT (S 5eld FAA6T WHIF (GOl 2 I FANOG WHNI (FH 5Fd T A7 ag
T TN 2970 8 WIOG0 T (T e FMALE (576 9T 2¥ ORI FACAD AR 30 291 A’ Fa00
TR A6 SIEER %) Mg &% =31

TS (GO DR T FATIBT 2790 & WEB[B T IITS HIATNG TwToszs

TG TR

Y%c

%d

%f

%lf

%ld

By

Yo

Uox

M4
char BIET™ (01 297{5/SMG6 "6 G
int BIRCSTE (GOT 27J5/S56 (64 G
float BIRCP4 (T0I AN{5/SMO0*1(5] Gy
double BIE0"1 (GBI 2 *{B/AG0 164 &)
long int BIAT?E (GBI 24"{B/SME6116F G
unsigned int BTAT™R (G0 X °{6/ANG61(63 G
Octal (GB1 2={5/SGE 54 Gl
Hexadecimal (G0T 2={B/MEG {64 GT

SRR
scanf("%c” &a); printf(“%c”,a);
scanf("%d",&a); printf(*%d",a);
scanf(“%f" &a); printf("%f",a);
scanf("%If" &a); printf("%If",a);
scanf("%ld",&a); printf("%ld" a);
scanf("%u",&a); printf(*%u”,a);
scanf("%0" &a); printf(*%o0",a);

scanf("%x",&a); printf(“%x",a);



scanf() BIR¥TINS 419RI€s
{1 (RIS 1B 5T (GBT I8 (T TAT scani() T IAT FATHBs

scanf(*format_specifier *, &variable_name);

CLIERRE

v 3 BRI char BIR0E (01 2470 (831 Gl scanf() FIRe scanf(“%c”, &al;

v 3 BFI02 int BIRCPTE (OG0T 2470 (FOTR GAT scanf() T8 scanf(“%d", &a);

v 3 Bl float BIAUPF (G0I Z4°{6 (RETR GAT scanf() FI¥We scanf("%F", &a),

v 3 B double BALR (GH1 2476 (RTTH TAT scanf{) FI¥Me scanf("%lf", &a);



printf() BR*TTNG II4RT4:

printf() FTS* HEONS T9204 T4 | FATO, (A [FF 292 SG6-6 (4| (G019, (S 46 91 SFM4E Heed
N SEGI5 (R |

@ g 735 SOOI (TAIATA GIT printf() FI¥RA HAIGS

WIEG6 (AT TG (BHB printf(” ); FHTAI TR (PO W4T f740® =31 (04
printf{(" Output text should be here “);

(BT G310 G T TOBYLE (AUTTATR TAT printf() T SATHO:
printf(*format_specifier”, variable_name);

[EEEGE

a Gell®d char BRI mﬁ[ﬁ‘;ﬁ?ﬁ (WAITATS printf() F1S*He printf{(“%c”, a);

a el int BIETTE (G0 W@@W (RATCATE printf() TS printf(“%d”, a);

a GelL®d float BI20"1F GEEIWTE (RYICATE printf() ¥4 printf(“%f", a);

a B5el%d double BIRT°1E GEBT@]@B?ICDB‘ (WATCSTE printf() FIS¥=2 printf(“%lf", a);



CIEELE

a bef( char BIAT™R (BT SNG6-0 (RATA printf{) FIHe printf(“%c’, a);

a Gel®4 int DIRCPIR (G0l WT@E“’ICB (W4T printf() FIE*Me printf("%d", a);

a beTd float BIACPR (GOT SIGGLE (FUITNTA printf() FI¥Ie printf{“%f”, a);

a b1l double BIRPFF (GETEMGGLE (RATNTS printf() FIe printf(“%If", a);

S G T JFTL WMOG LS (RUTTRIR BT printf() TSR waTNos
printf{*format_specifier1, format_specifier2...", variable_name1, variable_name2...);
A PP GeId S2 GUTH (G01 SOG°1L0 (FATAI printf() PIETAR 192048

+ a,b & c BT (GBI GGG int BIETS (RATNIE G print) IS
» printf("%d %d %d", a, b, ¢);

AT I e o Tom 409 (0BT SG0°Y00 (AT printf() PIETAR I3

o ab & ¢ eI (WHT TGO TGV int, float & double DRTSR (TATAIR print) IS J19258
o printf(*%d %f %If", a, b, c;



TS FITT FICALT [T (FF SIS SR TGSTAT printf() TG NI TR 2+~ a1 T 411 <2 [eors
FAREYTA AT G FoHe B0 PIMFLE( \ ) T X TP IS FINERE 0|

AT FITI BIMIHIID ATIZE
AMTHIT FART F[IZE

\n R I D S E a L [
Gl

\t SSGLE horizontal tab
i [CERETY)

\v SGGLG vertical tab
i [CERETY)

\a SToE (PO AR Gl

\ GGG G (PILG*E( ")
R [CERET)

V SNEL2E ST (FNo*W( )
R [CERET)

\\ IOGLE TEH FIIRIE ( \

) 2P T

CLIET R

printf(“Learning\n ICT");

printf(“Learning\t ICT");

printf(“Learning\v ICT");

printf("\aLearning ICT");

printf(“Learning \"ICT\" “);

printf(“Learning VICT\'");

printf(“Learning \WICT\\ ");

LU

Learning ICT
Learning ICT
Learning

ICT

Alerm!

Learning "ICT"

Learning ‘ICT'

Learning MCT\



AMTHITT FICIRT

\n

At

LY,

\a

1‘.’

A\

\?

EIEE1E]

o 1ok I oL e B e b (A

G+

WNSEIE horizontal tab
LR ICERTY

ENBGLE vertical tab
Na L [ AT

ST HeTFS AANNT G

EIBGLE G (FILE*=H( ")

e L T ERET

OG-0 HUwe (FE*=( )

(TN T

B0 NS A FIIRE (\

e Lt (R T

HIEGE HAIEF H= (?)

TN T

LIRS

printf("Learning\n ICT");

printf(“Learning\t ICT");

printf(“Learning\v ICT");

printf("alearning ICT");

printf("Learning \"ICT\" ");

printf(“Learning VICTV' *);

printf(“Learning \WICTW ");

printf(" Are you learning
ICT? *);

TSTB

Learning ICT
Learning  ICT
Learning

ICT

Alerm!

Learning “1CT"

Learning ‘ICT"

Learning MCTY

Are you learning ICT?






